                                                         Test  10 класс  2 четверть
I. Fill in the gaps with the appropriate alternative.
      It was midnight but Jane was still awake. She was sitting in her armchair feeling sad and nostalgic. It had been a nice but_________(1) day for her. Jane’s old friends came to see her and they had tea together. Unfortunately, their tea parties_________(2) very often – they were all in their eighties and a city bus trip was a serious__________(3) to them.
     That afternoon they talked about the good old days and looked at the old photos. Jane opened the album again. The black-and-white photo_________(4) about sixty years before. She and Jim were unbelievably young and looked_________(5) happy. It was their wedding day. Jane’s family – her mother, father and________(6) – were standing to her right, Jim’s relatives – to his left. Jane found her in-laws very nice people – they treated her as if she were their own daughter and helped her_________(7) the twins who were born two years later.
1. a) heavy                  b) hard                         c) strong                          d) complicated
2. a) not happen         b) don’t happen          c) didn’t happen             d) happened
3. a) challenge            b) trouble                     c) worry                          d) fault
4. a) is taken               b) has taken                 c) took                         d) had been taken
5. a) incredibly           b) surprisingly             c) incredible                    d)  charming
6. a) siblings                b) mates                       c) acquaintances             d) ancestors
7. a) get on                  b) look for                    c) make up with              d) look after   
    
II. Choose the right variant to complete the sentences. Translate.

1) If you had given me more time, I… a better report last week.
a) would make                         b) made                           c) would have made
2) If you… more exercise, you would feel better.
a) took                                      b) have taken                   c) take        
3) The team wouldn’t  have lost the game if they… harder.
a) trained                                 b) would train                  c) had trained  
4) I’ll give you my address when I… somewhere to live.
a) would find                           b) find                               c) found    
5) Many people would  be out of work if that factory… .
a) will close down                   b) closes down                  c) closed down   
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III. Fill in the gaps in the text with the correct forms of the verbs in brackets.

      Tom and Kate have been married for fifty years. Tom smiled when he … (1)(be asked) how they … (2)(meet). He began to tell me about a dance hall in Croydon where he used to go in his twenties. Kate … (3)(break in) and (4)(remind) him that it wasn’t Croydon, it was in Purley. Tom agreed that it …(5)(be, not) in Croydon, but insisted that it …(9)(be, not) in Purley either.
